Int. Algebra 7.2 Operations on radicals & 8.2 Quadratic formula October 22, 2013

7.2 Operations on Radical Expressions

Properties of Radicals:
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Add & Subtract Radicals by Combining Like Terms
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Rationalize the Denominator

(rewrite so that there are no radicals in the denominator)
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When the denominator contains radicals added or subtracted with

something, we multiply by the conjugate of the denominator over
itself. a +b and a — b are conjugates.
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8.2 Solving Quadratic Equations using the Quadratic Formula

Given a quadratic equation in standard form,

ax?+bx+c=0, a0
—b+Vb2-4ac
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Quadratic Formula: x =
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Wednesday: turn in all textbook homework from Ch 5 & 6

I'm not looking for ALL the problems, just if you completed some problems
from each section.

5.1 #63-85 odd

5.2 #3-70dd, 15-250dd, 35-490dd

5.3 #25-290dd, 43-510dd, 61-670dd, 89-970dd, 109-1170dd
5.4 #19-25 odd; 27-43 odd; 55-61 odd
5.5 #21-47 odd, 79-1370dd

5.6 #3-131 odd

5.7 #35-49 odd; 51-57 odd; 61-75 odd
Ch 5 Review/Test/Cumulative Review
6.1 #39-79 odd

6.2 #3-95 odd

6.3 #17, 23, 25, 33, 41, 43

6.4 #19, 25, 29, 31

6.6 # 5-25 odd

7.1 #85-113 odd; 39-73 odd; 125-149 odd

7.2 #11-21 odd

New Homework:

7.2 #43-510dd; 57-650dd;85-91 odd; 97-1030dd; 113-1210dd
8.2 #59-690dd
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